
1. Erik has 5p coins. He has 40p. How many coins does he 
have?

2. Tick the number sentences that matches the array.

6 + 2 = 8          12 – 2 = 10         6 x 2 = 12           12 ÷ 2 = 6

Reasoning

Grammar and punctuation

5. Lego cards come in packs of 5. Sara bought 7 packs. How 
many cards has Sara bought? 
Anna has 30 cards. How many packs did she buy?
Answer both questions.

31       +                  =    59

74 - =   27

12   +  12  +  12   =  60 

15   - 5 - 5     =  

⅓ of 12 = 

¾  of 32   =  

=   5    X   8  

28    ÷ 4 =        

Spellings

Arithmetic

1. Fridge
2. City
3. Knee
4. Towel
5. Tries

3. Sara cuts her pizza in 3 pieces. She ate one piece. What 
fraction of the pizza has she eaten?

1. Tick one word that complete the sentence below.
The bees were _________ around the garden 

 buzzed
 buzz
 buzzing
 buzzes 

2. What type of punctuation should go at the end 
of this sentence before the second set of speech 
marks? 
“Can you please read to me, Mum”.
 Exclamation mark
 Question mark
 Full stop
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4. Circle the lightest box?

5 kg 5 g


